Test of Math’s

1. Between a square of perimeter 44 cm and a circle of circumference 44 cm, which figure has larger
area and by how much?

(a) square, 33 cm?2 (b) circle, 33 cm2

(c) both have equal area (d) None of these

2. A took 15 sec. to cross rectangular field diagonally walking at the ratio of 52m/min and B took the
same time to cross the same field along its sides walking at the rate of 68 m/min. The area of the field is? (a)

30m2 (b) 40 m2 (c)50m2  (d) 60 m2

3. A sum of money at compound interest double itself in 15 years. It will become eight times of itself in
(@) 45 years  (b) 48 years (c) 54 years (d) 60 years

4, A sum of money amounts to Rs. 4,840 in 2 years and to Rs. 5,324 in 3 years at Cl (com
annually). The rate of interests per annum is?

(a) 10% (b) 9% (c) 11% (d) 8%
5. There are in all, 10 balls, some of them are red and the others white. The average/cost of all balls is
Rs. 28, average cost of red balls Rs. 25 and that of white balls is Rs. 30, the peref white balls |s'7, <
(@3 (b) 5 (c)6 (d) 7
6. The average weight of five persons sitting in a boat is 38 erage weight rﬁa\%oat and the
persons sitting in the boat is@2 kg. What is the weight o boat
(a) 228 kg b) 122 kg O
(c) 232 kg d) 242 kg

. Two nu ers are in fhe ratio 3: 4. If % 4, then the@@%
(a) 48 (c) 36

The greatetfnum r of f ur hICh When d @i y 12 16 and 24 leave remainders 2, 6 and 14

respectlvely is?

(@) 9974, -(b)QO?O‘ (c) 9807 «is@éd

9. ﬂ invested an ambm)ﬁf Rs. 25,00%nd started a business. B joined him after one year with an
amount of Rs. 30,000. After t tarting the business, they earned the profit of Rs. 46,000. What
will be B's share in the profit?

(a) Rs¥14000 > (b) Rs. 12000

(c) Rs. 17250 i (d) Rs. 20000

10 A merchant has 1000 kg. sugar, part of which he sells at 8% profit and the rest at 18% profit. He gains
14% on the whole. The quantity sold at 8% profit is ?

(a) 600 Kg (b) 640 Kg

(c) 400 Kg (d) 560 Kg

11. S A man bought a horse and a carriage for Rs. 40,000. He sold the horse at a gain of 10% and the
carriage at aloss of 5%. He gained 1% on his whole transaction. The cost price of the horse was?

(a) Rs. 15,000 (b) Rs. 16,000

(c) Rs. 18,000 (d) Rs. 20,000

12. How much percentage above the cost price should a shopkeeper mark his good so that after allowing
a discount of 10% he should gain 26%?

(a) 140% (b) 25%

(c) 16% (d) 40%

13. Ratio between the monthly incomes of A and B is 9: 8 and the ratio between their expenditures is

8 : 7. If they save Rs. 500 each, find A's monthly income?

(a) Rs. 3,500 (b) Rs. 4,000 (c) Rs. 4,500 (d) Rs. 5,000

14. The sum of the age of a father and his son is 100 years now. 5 years ago their age were in the ratio of

2: 1. The ratio of the age of father and son after 10 years will be?



@5:2 (b)4:3 (c)10:7 (d)5:3

15. A bag contains Rs. 90 in coins of denominations of 50 paisa, 25 paisa and 10 paisa. If coins of 50
paisa, 25 paisa and 10 paisa are in the ratio 2 : 3 : 5, then the number of 25 paisa coins in the bag is ?
(a) 80 (b) 120 (c) 100 (d) 135

16. X can copy 80 pages in 20 hours, x and y together can copy 135 pages in 27 hours. Then y can copy
20 pages in?

(a) 20 hours (b) 24 hours (c) 3 hours (d) 12 hours

17. A road of 5 km length will be constructed in 100 days. So 280 workers were employed. But after 80
days it was found that only 3.5 km road was completed. Now how many more people were need to finish the
work in the specified time?

(a) 480 (b) 80 (c) 200 (d) 100

18. A man travelled a certain distance by train at the rate of 25 kmph and walked back at the rate of 4

kmph. If the whole journey took 5 hours 48 minutes, the distance was? 3
(@) 25 km (b) 30 km (c)20km  (d) 15 km “\j\
Test of English &Q/
Direction: In question Nos. 1 to 20, some of the sentences have (/@ e correct. F|@ tWhlch
is%D)

part of the sentence has an error. If there is no error your answ

1. The Finance Minister faas not (a)/ and probablyw ot introdUJCe the bill (b)/d‘h cl‘gls session of the

Parliament (c)/ No Error (d)
- your viewsmay be (a)/ | stilLh e purpose EQatlon is to succeed in the life
(c) No Error (d)

Your mfor@non y beNe t s (a)/ typ &)ﬂg\or from a father (b)/ is hard to be

belleved (c)/ No Error (d)

4. /None candeny that every scientific (a)f(n\v@\ﬁc/n had proved more harmful (b)/ to humanity than

benef;gral(c)/ No Error (d)
5. Some people think theg grief (a) / and miseries too grievous (b) / to be born (c) / No Error

d)
6. The oplnlon expressed (a) /'is based only on our transactions (b) / with the party concerns. (c) / No
Error (d)

7. .“ | was surprised when | got confirmation (a) / of the news that he was the recipient (b) / of the

prestigious award (c) /No Error (d)
8. The circumstances in which the claim (a) / was made certainly (b) / unbelievable. (c)/ No Error (d)
9. The authorities always request our assistance (a) / whenever they felt (b) / they require (c) /No Error (d)

10. India’s travel and tourism (a)/ industry is poised (b)/ on growth at seven (c)/ percent this year alone /No
Error (d)

Direction: In question Nos.11 to 15, sentences are given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each question. Choose the correct alternative out of the four and
indicate in your answer sheet.

11. Where in New York........... when you were studying in Columbia University.
(a) had you lived (b) did you live (c) have you lived (d) do you live
12. 1 am writing on behalf of my colleagues who feel that they............ by you in recent past.

(a) are neglected (b) had been neglected



(c) have been neglected (d) are being neglected

13. At the time of last election you.......... us an adequate supply of electricity.
(a) promised (b) would promise (c) have promised (d) none of the above

14. As soon as he got the telegram, he........ for Bangalore.

(a) would leave (b) had left (c) left (d) has left
15. The journey took so we ................. the wrong road.
(a) took (b) had taken (c) would take (d) have taken

Direction: In question Nos.16 to 20, four alternatives are given for the idiom/phrase underlined in the
sentence. Choose the alternative which best expresses the meaning of the idiom/phrase and mark it in the
Answer Book.

16. She is a fair-weather friend.

(a) agood friend (b) a friend who meets difficulties calmly

(c) one Who deserts you in difficulties (d) a favourable friend \
17. To die in harness means to die while W

(a) riding a horse (c) in auniform (b) in a stable (d) s

18. To keep under wraps means to keep something

(a) covered (b) protected (c) unpacked (/(d) secret %\>C)

19. After independence Indianfagriculture rose like ix duejto the Green @/Qlon.
(a) with w life b) with a start \’\
(c) with' royaligait (d) with veng % d@.

20. His failure at the electi hasmn e point with g\w ong time.

(a)somethlngwblcb~hurts .

(b) somethmgg;hgt;brmgs fear to /X‘(\Q
(c)methmg memorable for
(d) so‘methlng pleasur
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